

## OFFICE OF THE SHERIFF

## COUNTY OF LOS ANGELES



#### HALL OF JUSTICE

JIM McDonnell, Sheriff
211 West Temple Street, Los Angeles, California 90012

A Tradition of Service

August 09, 2016

The Honorable Board of Supervisors County of Los Angeles 383 Kenneth Hahn Hall of Administration Los Angeles, California 90012

Dear Supervisors:

# APPROVAL TO ACCEPT A DONATION FROM STANLEY W. EKSTROM FOUNDATION OF PHYSICAL FITNESS EQUIPMENT TO OUTFIT TEMPLE SHERIFF'S STATION'S GYM (FIFTH DISTRICT) (3 VOTES)

#### **SUBJECT**

The Los Angeles County (County) Sheriff's Department (Department) is seeking the Board's approval to accept the donation of gym equipment for the Department's Temple Sheriff's Station's (Temple Station) gym.

#### IT IS RECOMMENDED THAT THE BOARD:

- 1. Accept the donation of fitness equipment, valued at \$56,386.15, from the Stanley W. Ekstrom Foundation (Foundation) to outfit the gym at Temple Station with new fitness equipment.
- 2. Upon the Board's approval, instruct the Executive Officer of the Board to send a letter of appreciation to Mr. Larry C. Felix, Director of the Stanley W. Ekstrom Foundation, 701 South Parker Street, Suite 5500, Orange, California 92780.

#### PURPOSE/JUSTIFICATION OF RECOMMENDED ACTION

The Foundation is donating new fitness equipment valued at \$56,386.15, to Temple Station to promote physical fitness for all employees at the station (see attached list of equipment). The current equipment has been in place since the remodeling of Temple Station in 1992.

#### **Implementation of Strategic Plan Goals**

This donation supports the County's Strategic Plan, Goal 3, Integrated Services Delivery. The

The Honorable Board of Supervisors 8/9/2016 Page 2

donated gym equipment will enable employees of Temple Station to maintain and improve their overall health condition, which will serve to enhance the quality of service provided to the community.

#### FISCAL IMPACT/FINANCING

There are no direct costs associated with the acceptance of the new gym equipment. The physical fitness equipment, along with installation, will be donated to the County by the Foundation. Any future repair or maintenance costs beyond those covered under warranty will be incurred by Temple Station.

No financing is involved.

#### **FACTS AND PROVISIONS/LEGAL REQUIREMENTS**

California Government Code Section 25355 permits the County to accept donations or other gifts for public purpose. Donations in excess of \$10,000 must be placed on the Board's agenda for the Board's consideration and acceptance.

This Board letter has been reviewed by County Counsel.

#### **IMPACT ON CURRENT SERVICES (OR PROJECTS)**

There will be no negative impact on current Department services as a result of this donation.

#### **CONCLUSION**

Upon Board approval, please return one copy of the adopted Board letter to the Department's East Patrol Division.

Sincerely,

JIM McDONNELL

Sheriff

JM:CLJ:thm

**Enclosures** 



Cemco Strength Equipment, Inc 2531 Seaman Ave South El Monte, CA 91733 US

(855) 232-3626 sales@cemcostrength.com www.cemcostrength.com

### Quote

Date	Quote # 2045	
01/28/2016		
	Exp. Date	
	02/12/2016	

#### Address

Temple City Sherrifs Department 8838 Las Tunas Drive Temple City, CA 81780

	Ship Date	Ship Via	Tra	cking No.	Sales Rep Juan Mercado	
	03/04/2016	Cemco Truc	k	tba		
Activity			Quantity	Rate	Amount	
Rubber Flooring 200 Square Feet per Roll	77.0.41		10	450.00	4,500.00T	
<ul> <li>Box Jump Set 8 12 18 24 Set</li> </ul>			1	375.00	375.00T	
Towel Hamper			2	125.00	250.00T	
Folding Exercise Mat			4	75.00	300.00T	
Boxing Title Gel Rush Training Gloves			2	135.00	270.00T	
Title Mexican Style Hand Wraps			12	5.99	71.88T	
Muscle D Punching Bag			1	149.99	149.99T	
<ul> <li>Power Bands Complete Set 5 Bands</li> </ul>			2	110.00	220.00T	
<ul> <li>Black Concept 2 Model D Rower PM5</li> </ul>			2	1,250.00	2,500.00T	
• Precor 966i Experience Treadmills Remanufacto	ıred		3	2,098.00	6,294.00T	
Precor 546i Experience Elliptical Remanufactur			2	1,989.00	3,978.00T	
Muscle D Glute Ham Developer			1	749.00	749.00T	
Kettle Bell Set (Pair)			1	625.00	625.00T	
4kg 8kg 12kg 16kg 20kg 24kg with 2 Tier Kettle Bell Rack w58"xh26"						
• 32 inch TV with Wall Mount			4	499.00	1,996.00T	
• 20 Ft Battle Rope			2	135.00	270.00T	
Weighted Vest			1	195.00	195.00T	
40lb , 80lb, 120lb						
<ul> <li>SLAM BALL SET - 10,15,20,25,30 LB - ONE with rack</li> </ul>	EACH		1	385.00	385.00T	
<ul> <li>MEDICINE BALL SET, 14LB, 16LB, 18LB, 20 with rack</li> </ul>	DLB, 25LB		1	395.00	395.00T	
Continue to the next page						

Activity	Quantity	Rate	Amount
Cemco Bumper Plate Sets	1	488.00	488.00T
(4) 45lb bumper plate			
(4) 25lb bumper plate			
(4) 10lb bumper plate	,	2.050.00	2.050.00T
• Cemco Urethane Pro Style Dumbbell Set, 5-75lb 5lb Increments with 3 tier Rack	1	2,950.00	2,950.00T
• 7ft Olympic Needle Bearing Power Bars	4	275.00	1,100.00T
• EZ Curl Olympic Hard Chrome Bars	3	125.00	375.00T 275.00T
• 9 Set of Attachment Cemco Set	1	275.00	2/3.001
Lat Bar			
Curl Bar			
Straight Bar			
Tricep Rope			
(2) Double D Handle			
D Handle Row Bar			
D Handle			
Single Tricep Rope			
• Olympic Bar Collars (Pair)	5	18.00	90.00T
Olympic Bar Gun Rack Holder	1	75.00	75.00T
Primo Hot Cold Water Dispenser Qhite	1	118.00	118.00T
Olympic Commercial Dead Lift Hex Bar	2	175.00	350.00T
Lat/Row Combo Machine (NEW Muscle Dynamics)	1	2,395.00	2,395.00T
Leg Extension/Leg Curl Combo Machine (NEW Muscle Dynamics)	1	2,499.00	2,499.00T
Leg Press/Calf Raise Combo Machine (NEW Muscle Dynamics)	1	2,849.00	2,849.00T
<ul> <li>Multi Chest Press Combo (Flat, Incline, Decline) NEW Muscle Dynamics)</li> </ul>	1	2,699.00	2,699.00T
Flex Fitness Pec Fly Rear Delt (Remanufactured)	1	749.00	749.00T
Weight Assisted Chin Dip Machine NEW Muscle Dynamics)	1	2,849.00	2,849.00T
Muscle D Fitness Leg Press Squat Press	1	2,199.00	2,199.00T
Cemco Half Rack With Pull Up Bar + Olympic Plate Holders	2	2,499.00	4,998.00T
• Indoor Outdoor Oscillating Wall Mounted Fan 24 In. Diameter 3/10HP 7700CFM	2	225.00	450.00
Yamaha - 650W 5.1-Channel 3D Home Theater System - Black	1	549.00	549.00
Order will be processed upon down payment. Down payments are		SubTotal	\$51,580.87
on-refundable. Credit cards may not be used for transactions larger than			
2,000. Add additional 3% on all credit card Transactions. 25% re-stocking fee or all cancelled orders. Lead time 10-14 business days. Estimate must be		Tax (9.5%)	\$4,805.28
igned and dated with payment information.		Total	\$56,386.15

Accepted By

Accepted Date